5/8 ET LOCK WASHER(4)

5/8 HEX NUT(4)

% ROD(REF)

\‘ﬁ’
00
[}

\ BAY ANGLE(REF)

ROD TO CEILING KIT
DOUBLE LEVEL FRAMING

I=

@Eﬁ

SFC-2(2)

/ 2" CHAN FR(REF)

(SFH-111 & 111E ARE NOW THE SAME)

PART # LOCK WASHERS
SFH-111 YES
SFH-111E YES

5/8 HEX NUT(3) SFC-2(2)

STIFFENING CLIP KITS
FOR 2" CHAN FRAMING

% x 3 HHCS (1)

\ 2" CHAN FR(REF)

5/8 ET LOCK WASHER(2)
SEE TABLE FOR OPTIONS

PART # LOCK WASHERS
SFH-112 NO
SFH-112E YES

€05/19/09>

bt

Moreng Telecom Products
973-237-2001
www.morengtel.com



http://www.morengtel.com/images/product/pdf/BasicHardware/Basic_Hardware_09-4-01%20SFC2.pdf
http://www.morengtel.com/images/product/pdf/BasicHardware/Basic_Hardware_09-4-01%20SFC2.pdf

